
PKGTH2554/96022000100 (2005) : Engine

Page 1 of 2

George
Note
same as 601900 engine except for
Engine is Kohler CV674-75544
Electric clutch is #174605Gas tank is #151346



PKGTH2554/96022000100 (2005) : Engine

Ref # Part Number Qty Description

1 Engine Kohler, Model No. CV730
2 149723 Muffl er Side
8 121361X Pulley V-Idler
9 177748 Keeper Asm. Belt Engine VGT
10 175287 Bushing
11 179335 Clutch Electric
12 143996 Pulley Engine VGT Elect Clutch
15 179115 Tank Fuel Rear 5.0
18 179124X428 Cap Asm. Fuel
20 177328X428 Control Throttle
21 191611 Screw 10 x 3/4 Single Lead Hex
22 187767X428 Control Choke
26 3645J Bushing
27 139277 Stem Tank Fuel
28 7834R Fuel Line
29 137180 Spark Arrester Kit
31 145006 Clip
37 123487X Clamp Hose
39 17490636 Screw TT 3/8-16 x 2-1/4 unc
40 17490664 Screw TT 3/8-16 x 4 unc
41 126197X Washer 1-1/2 OD x 15/32 ID x .250
42 10040700 Washer Lock 7/16
47 175288 Spacer
62 146629 Shield Heat Muffler CV-Intek
69 Gasket
70 175545 Tube Exhaust LH
71 175546 Tube Exhaust RH
79 183906 Screw Socket Head 5/16-18 x 1
80 M73030800 Nut Flange M8-1.25
81 188800 Tube Drain Oil
82 188799 Valve Oil Drain
83 171877 Bolt 5/16-18 Unc x 1-3/4 W/Sems
84 17060624 Screw Thdrol 3/8-16 x 1-1/2
85 179953 Bolt Hex 7/16-20 x 3.75 Gr. 5
86 184362 Nut Hex Flange Toplock M8-1.25

Page 2 of 2


